JRKYUSHU SWEET TRAINI 8} 3 51| |

2REEESR (201743810H~9818H) o (003) 289~ {537

EEEERT10.00~17:30 (KEE- BIE-R B BKH)
FR295%2H278 (A) 16850051

<RORE> -
O "= 27_'—j) I/D,LJ: :DEJE & U ?En:*irgfagjgFﬁfmﬁ:ﬁtvwhwﬁvyy—(:ﬁﬁ#:&\iﬁm)
A 1T7=—TILDOHKZFEHY 3A10B (%) FHE 3A4E(H) FRE
- BERL

X EFRIKRIEBRAEDYET, FTHITTRIZEL,
BRHOKRIE. HEHNEYT7—T A JRAUMNKRITZIE . IRLINDERIRITEA—CIHRED EESBHLIAH T,
¥ JRAMBEIRES DEFIRRTT, FTaoOMIZ, RITEHEERBEANSSVET,

" 158 25H
5 CFIAXA ‘ ‘
22T7— )L 4Z2T—J )L 1% E= VEAEES
3A108 (%) |FuifE(EHEE-RE) X X X X X

FRME (EHR-RE) X X X X

3A118 ()

FRE(RBFEHEER) X X X X

FRME (EH R >R X X X X

3H128 (H)

FRE(RBFEHEE) A X X X
iy FHIE (e TR Ri) x x X %
% 3H18H (%)

:"I FRE(RBFEHE) X X X X

| FRME (EHR-RE) X X X X
3H19H8 (H)

A FRE(RBFEHER) X X X X

FRlE (EHR-RE) X X X X

38208 (B)
FRE(RBFEHER) X X X X
3A248 (£) |FBEEE—ERE) X X x X X
FRME (B R -RB) X X X A
38258 (1)
FiFE(RB—1EHE) X X X X
FHIME (K5 BR— B HER) X X X X
48288 (%)
%18 (B ER— K5 ER) X X x
FHIME (K5 BR— B HER) X X X X
48308 (A)
F%E (ABR—KHER) X X X x
FHIE (K5 ER— B BER) A A x A
5A18 (B)
*x F%E (A BR—KHER) @) X x 0)
7 R (K B B EBE) x x x x
3 5858 (%)
| F%E (A BR—KHER) x x
A FHIE (K5 BR— B EE) x x x x
5H68 (%)

F%E (A BR—KHER) X A X A

FHIE (K5 ER— B BER) o) X A

578 (B) | ©
F%E (A BR—KHER) @) A A X
FRIE (K5 ER— B BER) X X X X

58138 (1)
F%E(ARR—KHER) X X x x




H¥EH

CHI A X

2%

28T—7 )L

®

i

PEAEES

N—=UH

58148 (B)

FHEIE (K5 ER— B BER)

X

FRE(BBR-K2ER)

X

58198 (&)

FHEIE (K5 ER— B BER)

FRE(BER-K2ER)

X | X |D| x| g

58218 (H)

FRIE (K5 ER— B BER)

FRE(BBR-K2ER)

X | D| x| X%

58228 (R)

FRIE (K5 ER— B BER)

X

FRE(BBR-K2ER)

X | X |D>| X%

X

58278 ()

FRIE (K5 ER— B BER)

FRE(BBER-K2ER)

6828 (£)

FRIE (K5 ER— B BER)

FRE(BBR-K2ER)

6A3R8 ()

FRIE (K5 ER— B BER)

F#E(HHR->KX2ER)

6A58 (A)

FRIE (K5 ER— B BER)

F#E(HHR->KX2ER)

6H9H (%)

FRIE (K5 8R— B BER)

F#E(HHR->KX2ER)

6A118 (A)

FRIE (K5 ER— B BER)

F#E(HHR->KX2ER)

68168 (&)

FRIE (K5 ER— B BER)

F#E(HHR-K2ER)

6R178 (L)

FRIE (K5 ER— B BER)

F#E(HHR-K2ER)

68198 (A)

FRIE (K5 ER— B BER)

F#E(BHR->K2ER)

6H248 (1)

FRIE (K5 ER— B BER)

F#E(BHR->A2ER)

78158 (%)

FRIE (K5 ER— B BER)

x| X|D|IO|O|x|D|O|DID|ID|IO|O|x|DID|IDID|D|Xx|x|Xx|X|X|D|x]|X

FH&E(HHR-KXSER)

7A168 (B)

FHIE (K5 ER—BBER)

FH&E(HHR-KXSER)

7H238 (B)

FHIE (K5 ER—BBER)

FH&E(HHR-KXSER)

78288 (&)

FHIE (K5 ER—BBER)

FH&E(HHR-KXSER)

8H4H (%)

FHIE (K5 ER—BBER)

FH&E(HHR-KXSER)

8A6H (B)

FRIE (K5 ER— B BER)

FH&E(HHR->XSER)

O O|0O0O|0O | x|O|0O|O0OIP>IO|IO|O|O|Xx | OI0|O0|0|O0|O0|P|X|O|B|D|P|(P|O|D|x |D|Xx|Xx|X]|X|X|X

x| O|O|O|O|D>|x|D|D>|D>|x

>ID|OO|IO | x|O(>[x|O|>|D>|>|IO|I>|OIB|IOIB|O|D|ID|Xx|O|>|O|x|D>|ID>|O|x]|x

O|O|O0|O|O0|D>IB|OIP|x|x | O|O|O0O|X|[O|>|O|O|O|P|x|x|O|%x|x|Xx|D>|x Ofx|X




_ 1558 288
fanki=! — F X

2257— )L A% T—I I 18 {E= PEAEES

FHEIE (K5 ER— B BER)

O
>
O
O

88118 (%)

FRE(BBR-K2ER)

FHEIE (K5 ER— B BER)
8H13H8 (A)

FRE(BER-K2ER)

FRIE (K5 ER— B BER)

8A 148 (A)
FRE(BBR-K2ER)

FHIE (K5 ER— B AER)
8H18H (%)

FRE(BBR-K2ER)

FHIE (K5 ER— B BER)
8A19H (I)

FRE(BBER-K2ER)

FRIE (K5 ER— B BER)

N —L ¥

8A278 (A)
FRE(BBR-K2ER)

FHIE (K5 ER— B BER)
9R3H (B)

F#E(HHR->KX2ER)

FHIE (K5 ER—BBER)
9R98 (1)

F#E(HHR->KX2ER)

FHIE (K5 ER— B BER)
9R178 (B)

F#E(HHR->KX2ER)

FRIE (K5 ER— B BER)

x O|>|IO|OI0O|0|0|O0|>|O|O|O0|0|O00|0|0]|O0
x >ID>I>|xO|O|>|IO|O|O|>IOO0|O|0|0 (D> |P>
x >DIO|IO|x|O|>|O|O|D>|x|OI>|>|P>O0O|O|I0|O0
x O[> |I>P|OIx|O/0O|O|O|O0O|O|O0|0|O0|O|0]|O0

9R188 (A)

F#E(HHR->KX2ER)

NIRAM B E - RiES
s BFEYT—F R
TR 063 28021587

R 10.00~17:30 (KE-BE-HRBEBHKH)




